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First 15 minutes are allotted for
the candidates to read the

question paper.
Sz : §) Wt wEEl & S A dEr |
o v % i % I wE

Instruction !

ii)

CHETE
Note: 1)  Answer all ~ the  questions
compulsorily.

i) Allotted marks of all the questions
are indicated against them.
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1.

2

AT U N O Wl el T T
W—Wﬂiﬁﬁ@q:
i) o erfufowd’ &

) I TN F) e Qde

W) wE e %) A wE T
i) Fefafea & ¥ $9-9 arafes @

g 7 ,

) Y@ w)  3E @R

¥) TR @R ) TH® S @]
i) TAmE A L &R T war

g

3) @il ). ¢ER

q) et 3) THE@E A
iv) ‘g &' v & Al F A

) 15 I, 2016 Hi
d) 2 W, 2016 F
) 87X, 2016 Hi
§) 30 f@=R, 2016 #I | 1
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v) ' @ s g

H) FHEWA ofF F) afa e

F) FAREE 7)) e | 1
Write the correct alternatives of the
following questions in your answer-book :
i} '‘Bank Overdraft'is

a) Current asset

b) Current liability

c¢) Fixed asset

d) none of these. 1
i) Which of the following is Real
Account ? -

a) Capital Account
b) Drawings Account
¢} Machine Account

d) None of these. 1
iii) A Bill of Exchange is drawn by
a) Drawee b} Creditor

c) Acceptor dj none of them.
1

iv) 'Five Hundred' Rupee note was
demonetized on
a) 15th August, 2016
b) 2nd October, 2016
c) 8th November, 2016
d) 30th December, 2016. 1

[ Turn over
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2.

4

v} The characteristic of 'Land’ is

a) Unlimited supply
b) Active factor
c) Indestructible

d) Movable. 1‘
)~ THA T FG A &G BH-ET GEr
AR AT § 2 1
i) S T I AT i T HE Skt At
g ? 1

iii) Wmaﬁm%&ﬁﬁm.? 1.

- iv) YR & g fads o A fefed 1 1

v) ‘ol v a9 § ¥ oot @R 1
i)  Which account is prepared for
knowing the gross profit ? 1

i) How is cost of material consumed
calculated ? 1

iii)) Who invented 'computer’ ? 1

iv] Write the name of present Finance
Minister of India. 1

v) 'Money deposited in bank is capital.’
Comment. 1



| 5 829
i) fel uw freh St & A fefaw 2
ii) - I F TR TIE ITAT §d=T | 2
iii) . SEET F GH R AW a5

S At 45 % A e | 2

iv) T TSI YO i AR feisara
I I | 2

v) (W & IR ¥ TRl Ww wRon a6
 Iovi@ Wi | 2
vi) - 3UEA & GEH & 9 H GIST FI YHehT
EGIEUE . 2

i) Write the names of any four private
banks. 2

iij State any four main uses of a
computer. 2

iiij Name any jfour time and labour
saving appliances used in business.

2

iv) Mention any four characteristics of
Vertical Filing System. 2

v} Mention any four reasons for
dishonour of a cheque. 2

vi) State the role of Organisation as
means of production. 2
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4.

6

=1 ® & TAE ferooy R @i - 4

i)
ii)
i)

iv)

v)

1T 31.12.2017 1 UGS & HTAR
% ¥ (SH1) Bo 6,428 o |

% 9 Fo 120 T |

% 3 Fo 1,000 ATV GHET FRar |

o 2,600 & 6 IR few T e
YA & forg g @l frmmg 1
%o 1,600 & °F FH F I I g
37+l T e e gy |

Prepare a Bank Reconciliation Statement

from the following : 4

i)

111)

1v)

As on 31.12.2017, Bank Balance
(Credit) as per Pass Book was
Rs. 6,428,

Bank charges were Rs. 120.

The Bank
Rs. 1,000.
Cheques of Rs. 2,600 were issued
but were not presented for payment.
Cheques of Rs. 1,600 were deposited

into Bank but were not credited till
now.

collected dividend
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-G AR H RN Few | Tus

T'ﬁ Ea| EGIE 241
Define 'On-line Business'. State its
merits. 249
) i) I S H 9w fovad e 12
ii) WedRl 9% & 9”& faf@g 2

¥) i) Sw@itEr gw e & @men
HIAT | 5

ii) =29 IR gud d ¥ FEUE 2 2

a) i Write four characteristics of
indigenous bankers. 2

i) Write four functions of
Cooperative Bank. 2

b) i Explain the law of Diminishing

Marginal Utility. _ _2
What is the relat:pnshlp
between expense and saving 22

dfeFat 7 To 6,ooomnﬁﬁﬁaﬁ3ﬂ3ﬂi
w%ﬁwﬁqﬂ3maﬁmﬁmaﬁf@]
S A R AR o 200 T A 9 5 H
g o 1 2 ff e foer foer & T R
S5 5 Bo 50 AT T T |

@qﬁq&ﬁﬁwifmaﬁﬁ%ﬁ@

AT |

4 + 4
Fqar

P e AUAT

829

8

31 O, 2017 & FEAE B a9 & f6Q @
ded’ & g @ i gEe & amuR

W R 2+3+3
@t & A 3fee Hfge
(¥o) (¥o)

&t 86,000
3BT 6,000 *.
UFg 2,880

g wd Ty 1,05,000 | 1,60,000
AR TToE 6,000

Elr RGeS 2,000
I T HeTedd 8,800

ToheTen U & 2,800

A= = 1,600

FHEH 1,280
39T /o 800

3TEIA KT B WY 600
R 18,000

A 48,000

TRitaes wefaar 26,000

W 24,000
e SR 48,000

2,73,880 | 2,73,880
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BEIRIEE 829 "
' On the  basis  of  the  [following
1 TEITaT Fo 32,000 | information, prepare Final Accounts of
ii) fi;?ﬁ W 6% R FEW | 59 ‘Sagar Traders' for the year ending on”
FFTFIT% | | ’ 31st March, 2017 : 2+3+3
Name of Accounts Debit Credit -
i) TR W To 300 IR A FHeH (Rs.) (Rs.)
- Capital 86,000
¥ 720 ¢ | Drawings 6,000 -
. . _ \ Cash 2,880
iv) S HOT W SRR W 25% far Purchases & Sales 1,05,000 | 1,60,000
Return Inward . 6,000
SR | Return Qutward 2,000
Salaries & Wages 8,800
iti - Rs. 6,000 to Mauli Rent and Rates 2,800
Ritika sold goods for Rs General Expenses 600
and got a Bill of Exchange accepted by Commission 1,280
Bad Debts 800
her for 3 months. After 3 days she Reserve for Bad
Debts
) . ) 6
discounted the bill at a discount of Furniture 18,000 00
Rs. 200 with the bank. On the due date, gped“jing Stock 26:000
- K had reditors
bill was dishonoured and the ban Debtors l 48.000 24=QUU
i harges. : _ 2,73,880( 2,73
to Rs. 50 as noting ¢ _ — <5800 ] 2,73,880
to pay Adjustments -

essary journal entries in the
4+4

Pass nec
books of both partics.
| OR

) Clo:-‘,ing stock Rs. 32,000.

ii)

on Drawings @ 5%.

'P = -
fovide interest on capital @ 6% and
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111 Prepaid tax Rs. 300 and Accrued
commission Rs. 720.

Iv)  Provide reverve for Bad Debts @ 2% Yo

on Debtors.

sisieh a1, e oK frad gRT o=@ o & 2
HAHH TS & FUR W TF ded daR
HifTT | 3+5

Jregar
G2Vl dEH & Bi-diA § "HT & 2 TR At
YIS WA 1 U ST | 3+5

'.Why', when and by whom is invoice
prepared ? Prepare an invoice with the
help of imaginary figures. 3+5
OR

What are the means of communication ?

Describe any two main means. 3+5

el frord o & e @ o B 8
Hyal

S 8 T gl wghaEl 1 Seoid ST |
8

I Tarn over

10.

10.

12

Describe the functions of Reserve Bank
of India. &
OR

Describe the recent trends in banking

sector. 8

3UgE WAV §RT FA YA adl HHrd

I H =R HIAC | 8
HUAT

'9H w FEETE W T WA € 2 5

F FAGAA H TUGA FA el HREAT B

feere T HITTT | 246

Distinguish between total utility and
marginal utility with suitable example. 8

OR

What do vyou understand by the
‘efficiency of labour' ? Discuss the factors |

which affect efficiency of labour. 2+6

829 - 80,000



